CHAPTER 5 – THE CONCEPT OF AN OPERATIONS STRATEGY

AIMS OF THE CHAPTER
The last chapter reviewed the role of operations management.  This chapter shows how an operations strategy fits into this picture.  It discusses the definition of an operations strategy – along with the aims, contents and relationships with other strategies.  
An operations strategy is a vague concept that includes all of the factors that affects operations over the long-term.  Despite this nebulous form, all organisations have operations and make long term decisions – so it they all have an operations strategy.  This may not be explicitly described, but it must exist in some form.  Different conditions make managers put more emphasis on either the internal operations or the external environment.  Then they aim for a trade-off that gives the best overall result.  
The aim of the chapter is to give an introduction to the concept of an operations strategy.  More specific aims are to:
· Define ‘operations strategy’
An operations strategy is a somewhat vague concept that includes all the factors that affect operations over the long-term.  It consists of all the long-term goals, plans, policies, culture, resources, decisions and actions that relate to its operations.  

· Discuss the aims of an operations strategy
The overall aim of an operations strategy is support the higher strategies in achieving the organisation’s purpose, and it does this by providing superior performance in operations.  This operations strategy should be vertically consistent with higher strategies, be horizontally consistent with strategies in other parts of the organisation, define the overall direction of operations, establish an efficient, value-adding process, develop internal strengths to give distinctive capabilities, overcome weaknesses in operations, exploit opportunities in the environment, avoid potential threats in the environment, focus resources on areas that are critical for operations’ success, allow for the views of stakeholders, and be executable.
· Say how an operations strategy is likely to develop over time
One view says that there are three stages where:

1. the operations strategy implements the higher strategies, transmitting the organisation’s aims downwards from its corporate and business strategies to lower levels
2. the operations strategy supports the higher strategies, making sure that the higher strategies are actually achievable before considering their implementation.  
3. the operations strategy drives the higher strategies, by giving a competitive advantage. 
Hayes and wheelwright extend this into four stages of internally neutral, externally neutral, internally supportive and externally supportive.

· Outline the contents of an operations strategy
An operations strategy generally contains:

1. the purpose and aims of the operations, summarised in an operations mission.  This defines the long-term direction of operations, and can describe related issues such as distinctive capabilities, values, expertise, skills, relationships, processes, ethics, and other relevant factors.  
2. a series of goals and objectives that expand and add details to the mission.  The goals give a series of more immediate, largely qualitative targets, and the objectives convert these into more specific, practical, quantitative ones.  
3. plans to achieve these goals and objectives describing the methods that will best achieve them.  The details of these methods depend on the type of organisation.
· Describe a market view of operations strategy 
A market view emphasises the external view of the environment, particularly the market.  It says that operations managers should start by identifying customer demands and opportunities in the market, and then adjust the operations to supply products to satisfy these demands.  Distinctive capabilities come from the activities that effectively and efficiently meet market demands. 

· Compare this with a resources view
A resources view emphasises the internal operations.  It sees operations as using a collection of resources, and says that these should be used as well as possible.  So operations managers build on their strengths to develop excellent performance, and then look for market sectors where this will give a significant advantage.  Distinctive capabilities come from activities that are clearly better than competitors.
· Discuss measures of operations performance
There is a huge number of possible measures.  Some of these relate to costs and finance (gross profit, profitability, return on investment, return on assets, share price, price to earnings ratio, productivity, sales, market share, stock turnover, output per employee, etc).  Others refer more directly to operations, including efficiency, effectiveness, capacity, productivity, utilisation, etc.  
· Appreciate the need for strategic fit to match operations to their environment
A strategic fit means that there is a long-term match between the internal operations and the external environment – and the two are in harmony.  Throughout the book we have emphasised the need to balance the requirements of internal operations and the external environment.  When this balance is achieved, there is strategic fit.
DISCUSSION QUESTIONS

1. Does every organisation have an operations strategy?
Yes.  Every organisation has operations and it must make long-term decisions that affect these.  It follows that there must be an operations strategy.  This does not mean that the strategy is always written down or explicitly described, but it must certainly exist in some form. 
2. Customers are only interested in products.  If they like a product, the supplier does well: if they do not like a product, the supplier is in trouble.  Any talk about strategy, process, human resources, and other peripherals is just diverting the organisation’s attention away from making products that customers like.  Do you agree with this?

At first glimpse this seems like a reasonable position.  An organisation only succeeds by making products that satisfy customers, so they should put all their efforts into making the product.  But this does not just happen, and all the activities within an organisation – including strategy, process, human resources and everything else – are making sure that this happens.  For example, an operations strategy is not just designed as an esoteric exercise, but as a way of ensuring that operations continue to provide products that customer want into the long term.

3. What would you expect to see in an operations strategy?  How does an operations strategy fit in with other strategies?
An operations strategy is a nebulous concept that contains many diverse features.  The positive factors that are designed by managers generally consist of the purpose of the operations, summarised in an operations mission, an expanded series of goals and objectives, and plans and methods to achieve these aims.  The operations strategy sets the long-term direction of operations and shows how it will help the organisation achieve its overall purpose.  This purpose is defined in the organisation’s mission and expanded in its corporate and business strategies.  The operations strategy works together with other functional strategies to achieve the higher strategies.  
4. What are the main differences between a market view and a resources view of operations strategy?  Does this distinction make sense?

A market view emphasises the external view of the environment, particularly the market.  It says that operations managers should start by identifying customer demands and opportunities in the market, and then adjust the operations to supply products to satisfy these demands.  Distinctive capabilities – and success – come from effectively and efficiently meeting market demands.  A resource-based view emphasises the internal operations.  It sees operations as using a collection of resources, and says that these should be used as well as possible.  So operations managers build on their strengths to develop excellent performance, and then look for market sectors where this will give a significant advantage.  Distinctive capabilities – and success – come from activities that are clearly better than competitors. 

These two views cannot be seen in isolation.  Operations have to satisfy both internal and external requirements – so it is more accurate to consider the two views as different emphases rather than options. 
5. How does an organisation decide which features to add to its products?

In principle, organisations should design products with all the features that customers want, including good design, high quality, low cost, fast delivery, good customer service, reliability, and so on.  In practice, they simply cannot deliver all of these complex and competing requirements, as they would put too many demands on operations.  Instead, they have to compromise and focus on certain competitive features that appeal to enough customers, but still allow efficient operations.  The operations strategy largely dictates the type of features to include.  Unfortunately, there is always a risk of focussing on features that customers do not really care about, or giving too little attention to features that customers view as important.  Managers can spread their risk by not focussing on a single feature, but on a bundle of related features, typically under a broader heading such as ‘customer satisfaction’ or ‘customer service’.  

6. How can you measure the performance of operations?

There is a huge number of possible measures.  Some of these relate to costs and finance (gross profit, profitability, return on investment, return on assets, share price, price to earnings ratio, productivity, sales, market share, stock turnover, output per employee, etc) others refer more directly to operations (efficiency, capacity, productivity, utilisation, etc).  It is usual for an organisation to use many – possibly hundreds or even thousands – of these separate measures to get a fuller picture of performance.

7. All organisations in the same industry are likely to have similar operations and they work in the same environment.  So managers looking for a strategic fit will inevitably design the same – or at least very similar – strategies.  How can one organisation get an advantage over its competitors? 

This is an important question.  It is true that organisations learn from each other, and benchmarking means that there is inevitably some convergence in operations.  Then most leading supermarkets adopt a strategy of low prices; most coffee shops use similar operations; most mobile phone companies offer similar packages.  When organisations in a particular industry have found a winning strategy, it is difficult to change this and work with a radically different one.  Some organisations have tried this with dramatic success – as we have seen with the cases of Amazon.com and McDonald’s.  However, a more common approach is to accept that operations are very similar and then emphasise apparent, rather than real differences.  For example, banks that actually offer indistinguishable services might emphasise some minor difference such as customised design of credit cards.  The long term success of this approach is variable. 
8. Operations managers have to accept the environment in which they work, as they have no control over it.  But the basis of strategic stretch is that the environment can be changed.  How is this possible?

To a large extent this is true, as no organisation – except possibly the very biggest – can make decisions that change the environment in which they work.  However, the reality is somewhat different.  Every organisation makes decisions that affect its position in its industry and market.  These inevitably have an effect on the environment, even if it is very small.  So the reality is that every decision made within an organisation does affect the environment to some extent.  Perhaps it is fairer to say that an organisation cannot generally have a significant effect on the market.  And an organisation cannot generally control the effects, but can only observe the consequences of their decisions – so there is no positive choice or planned effect.  
IDEAS IN PRACTICE
Bessinger Associates
Aim: to outline the contents of an operations strategy in a service company
Many – probably most – operations strategies are not formally present.  Unfortunately, this means that managers have to infer their content and make assumptions about the aims they are trying to achieve.  When an operations strategy is more formally presented there are many forms it can take.  This case shows how one organisation gives a clear structure for its operations strategy, making sure that everyone knows the context in which operations work. 
Rio Cosmetico
Aim: to show how customer service has a place in strategy design

This is a case from a more unusual organisation – though the number of cosmetic surgical procedures is continuing to rise sharply.  This is a highly personalised service, where operations are clearly matched to specific customer requirements – giving a predominantly market view.  However, at the same time, each clinic considers the products – or procedures – that it can supply.  Essentially, it concentrates on a few types of procedure in which it has expertise and experience.  The discussions with patients look for balances between what the patient want and what the clinic can – and will – perform. 
e-Management Principles
Aim: to suggest the different types of resource in an organisation
Resources come in many different forms, and there is a correspondingly large number of ways that we can categorise them.  The chapter explicitly gives two alternative ways of categorising them.  This case gives a slightly more detailed view from a firm of consultants.  This lists the type of resources that might be used in any organisation. 

McDonald’s
Aim: to consider a successful organisation that emphasises a resources view of operations strategy
This case shows how McDonald’s takes a resources view and develops operations excellence to gain a competitive advantage.  The company has efficient operations that allow it to maintain the same standards in all of its restaurants around the world.  But as always, the one view does not give the whole story, and McDonald’s also has to consider the market view.  Their meals are carefully chosen to both allow efficient operations and appeal to a large number of customers.  In recent years this has meant moving away from their traditional ‘burgers and fries’ menu to healthier options, and the company has now become the world’s largest seller of salads. 
Parkvale Logistics Center
Aim: to illustrate some measures of performance in a service provider 
Each measure of performance looks at only one aspect of operations.  Then different measures can give different – and even contradictory – views.  For example, investing in new facilities might increase labour productivity but reduce capital productivity.  This case looks at a small number of related productivity measures in one company.  Some measures show a substantial increase from one year to the next; others show little change, or even a worrying decline.  Managers cannot use a few easy measures, as this will focus on some limited aspect of operations – and instead, they should look at a bundle of measures to get a broader view.  The important point about these measures is that they need careful interpretation, and it is best to follow trends in key measure over an extended period of time. 
BT
Aim: to show how an international company starts to balance the needs of customers and operations
BT is a major supplier of telephone services, and it illustrates the need for a balanced view of markets and resources – or strategic fit.  On one side, BT has a huge network of lines and resources that it has to use efficiently; on the other side, it works in a highly competitive market and must maintain high customer satisfaction.  It continually works for a balance between these two, continually updating operations to improve performance and developing a stream of new products to maintain customer satisfaction. 
CASE STUDY – CNN
This case describes an example of a company that used radically new operations to provide a completely new product – and change the shape of the television industry. 
· How would you describe the operations strategy of CNN?  Does this take a predominantly market or resources view?

The strategy was based on the development of radically new operations.  By moving away from traditional broadcast technology, CNN was able to provide a completely new type of service, focussing on a single type of program delivered by cable and then satellite.  In this sense, the original idea took a predominantly resources view.  Ted Turner recognised that he could use new technology and operations to deliver a new service.  He adjusted the usual type of television channel to give a dedicated 24 hour news service.  No similar service had previously been offered, and there was considerable doubt about the likely demand – so he was not meeting existing customer demand.  The service was clearly successful and created new demand.  Later the market view became more noticeable, as the original format was adjusted to meet the needs of the new customers.

· Why did CNN adopt these strategies, and what are the benefits?

Ted Turner has a reputation for being entrepreneurial and rather risk taking in his projects.  It is likely that he developed the new format because he could see the potential and was willing to take the risk to see if it would be successful.  This brought the benefits that CNN was the first in the new market and had the benefits of taking a major market share, setting the standards for later entrants, taking the high price that customers are willing to pay for new products, and so on.

· To what extent did CNN change its markets, rather than match its operations to existing markets? 

Although there were already markets for cable channels, including ones specialising in a narrow type of programmes, nobody had previously broadcast a 24 hour news service.  In this sense CNN was developing an entirely new product.  However, it did build on the experiences of other specialised cable channels.  CNN is generally seen as an entirely new service, but whether this is really true is open to debate. 

· What options does this leave for other television networks?   

Most television channels continue with their existing formats, working alongside CNN.  So there is a range of broadcast entertainment channels, specialised cable channels, and a huge number of satellite channels of different types.  Other companies have seen the success of CNN and have adopted similar strategies to produce their own 24 hour news channels.  These can give real competition to CNN, especially when they adjust their programmes to allow for local, niche markets and product differentiation. 
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